oS

VCR® Split-Nut™
Installation Instructions

Female VCR Split-Nut

1. Place two female split nut halves™ around the VCR
gland shaft so their ends are flush. Slide the split
halves against the back of the gland flange.

. Thread the larger opening of the hex collar over the
split halves by turning it counterclockwise. Tighten
hex collar slightly using an 11/16 in. wrench on the
Isplit nut halves and a 3/4 in. wrench on the hex col-
ar.

. To remove, turn the hex collar clockwise.
Split Half

N

[

VCR Gland

Split Half
Hex Collar

5 You must use a set with one split nut half marked
with the Swagelok logo and one split nut half
marked with the words “VCR PAT'D.”

www.swagelok.com


http://www.swagelok.com

Swosd

Split-Nut™ VCR®

Instructions de montage

Split-Nut VCR femelle

. Placez deux demi-écrous femelle™ autour de I'embout VCR, de
facon a ce que leurs extrémités soient alignées. Faites glisser les
demi-écrous jusqu'a 'arriére de I'embout.

. Vissez le plus gros orifice de 'écrou femelle sur les demi-écrous
rassemblés en le tournant dans le sens inverse des aiguilles d'une

montre. Serrez légérement I'écrou en utilisant une clé de 11/16" sur
les demi-écrous et une clé plate de 3/4" sur I'écrou femelle.

-

N

3. Pour démonter, dévissez I'écrou femelle en le tournant dans le
sens des aiguilles d'une montre.
Demi-écrou
Embout VCR
L]
Demi-écrou

Ecrou femelle

O Vous devez utiliser un jeu composé d'un demi-écrou marqué
avec le logo Swagelok et d'un demi-écrou marqué avec la
mention "VCR PAT'D."

www.swagelok.com.fr


http://www.swagelok.com.fr

Swosd

VCR® Split-Nut™

Montageanleitung

VCR Split-Nut mit Innengewinde

1. Die beiden Split-Nut-Halften™ mit Innengewinde um den VCR
Stutzen legen, so dass ihre Enden biindig sind. Die Split-Nut-
Halften zum Riicken des Stutzenflansches schieben.

2. Die groBere Offnung des Sechskantbunds linksherum iiber die
Split-Nut-Halften schrauben. Am Sechskantbund einen 11/16 Zoll
Schraubenschliissel an den Split-Nut-Hélften einen 3/4 Zoll
Schraubenschliissel ansetzen und leicht anziehen.

3. Den Sechskantbund mit einer Rechtsdrehung abschrauben.

Split-Nut-Hilfte VICR Stutzen

Split-Nut-
Hilfte
Sechskantbund

U Es muss immer ein Satz verwendet werden. Die eine Split-
Nut-Halfte ist mit dem Swagelok-Logo und die andere mit
den Buchstaben ,VCR PAT'D" gekennzeichnet.

www.swagelok.de


http://www.swagelok.de

Swosd

VCR® Split-Nut™
Istruzioni per I'installazione

Chiocciola spaccata femmina VCR

1. Posizionare due meta femmina di chiocciola spaccata™
intorno all’albero del premistoppa VCR in modo che le
estremita siano a filo. Far scorrere le due meta verso il retro
della flangia del premistoppa.

. Avvitare I'apertura maggiore del collare esagonale sulle due
meta ruotandolo in senso antiorario. Serrare leggermente il
collare usando una chiave da 11/16 in. per le due meta ed
una chiave da 3/4 in. per il collare esagonale.

N

3. Per rimuoverlo, ruotare il collare esagonale in senso orario.
Meta .
Premistoppa
VCR
L]
Meta

Collare esagonale

O Usare un set che comprende una meta contrassegnata dal
logo Swagelok ed una meta contrassegnata da “VCR PAT'D.”

www.swagelok.com


http://www.swagelok.com

Swosd

Instrucciones de instalacion
VCR® Split-Nut™

VCR Split-Nut hembra

1. Colocar las dos mitades de la tuerca partida hembra A alrededor del
eje del manguito VCR de tal manera que sus extremos queden
enfrentados. Deslizar las mitades contra la parte trasera de la brida
del manguito.

2. Enroscar la abertura mas grande del collar hexagonal en las mitades
de la tuerca, girando en sentido antihorario. Apretar ligeramente el
collar hexagonal, usando una llave de 11/16 pulg para las mitades
de la tuerca y una llave de 3/4 pulg para el collar hexagonal.

3. Para desmontarlo, girar el collar hexagonal en sentido horario.

Mitad de tuerca Manguito VCR

Mitad de tuer-
ca
Collar hexagonal

U Cada juego debe constar de una mitad marcada con el
logotipo de Swagelok y la otra mitad marcada con las pal-
abras "VGR PAT'D."

www.swagelok.com


http://www.swagelok.com

Swosd

VCR® Split-Nut™ *Juvk-rv
N ES R ES

¥)IVCR Split-Nut

1. 2[@DH I Split-Nut: F°EVCRT S Y ROEBEDE N D
[CERFT. Ty hOBBRTAE-FBERBRDLDICL
TFREW, VCRISYEDI SV IBEKEICEAN > T
Split-Nutd@H E 251 FESETEFIFI TR,
NANS—DORENFIOBIO B ZSplit-Nutdi /5 IC#HE 0\
NEE. REFEDICAURAATRISTTRS,
Split-NutO@H [C11/16<v5 « Y1 X - ULYF, NAN
S5—ICI33/41v5 - A X - LYFZERNT, "NBAS—
EDFDCTHEHFT TR0,

3 ENTRE. AEBAS—EEHEDICBESE TR,
Split-Nutd Fr

N

VCR
TS5V k

Split-Nut®
Eda

°Swagelokd IN'ZIENENIZSplit-NutdD¥H B KLV VCR
PATD” NS XFHZIENENIZSplit-Nutd¥ /=28 —
fAICTTERTS.

www.swagelok.co.jp


http://www.swagelok.co.jp

$IVCR Split-Nut

1. 28D & I Split-Nut¥ fyo&EVCRI S ¥ R D#EDE N D
CESF. Ty FOBRBELAE—FEBHEZEDLDICL
THREW, Z2LT. TNoO@AZREEICHBLNITTT
[SA%

2.VCRISY RMI S Y IBHEKTIICED > TSplit-NutD@
BS54 RESETRIRTTRS0,

3. WA TIRIE, Y1 F 2 - RS+ /N—ZE> TSplit-Nutd
MHEDBLUTRSU,

Split-Nutd¥ F+
r

VCROS Y R Split-Nutd¥fr

°Swagelok O JN'ZIENSNIZSplit-Nut@¥ A B LU VCR
PAT'D” CWVNDSXFHZIENSNIZSplit-NutD¥ 5 Z2{8—
FRICTTEATSL,



VCR Split-Nut macho

1. Colocar las dos mitades de la tuerca partida macho A alrededor
del eje del manguito VCR de tal manera que sus extremos que-
den enfrentados, y juntar a presion las dos mitades.

2. Deslizar las mitades contra la parte trasera de la brida del man-
guito.

3. Para desmontarlo, separe las dos mitades usando un destornil-
lador de punta plana.

Mitad de tuerca

Manguito VCR Mitad de tuerca

0 Cada juego debe constar de una mitad marcada con el logotipo
de Swagelok y la otra mitad marcada con las palabras "VCR
PAT'D."



Chiocciola spaccata maschio VCR

1. Posizionare due meta maschio di chiocciola spaccata™ intorno
all'albero del premistoppa VCR in modo che le estremita siano
a filo e premerle I'una contro laltra.

2. Far scorrere le due meta verso il retro della flangia del
premistoppa.

3. Per rimuoverle, separare le due meta con un cacciavite a taglio.

Premistoppa Meta
VCR

O Usare un set che comprende una meta contrassegnata dal logo
Swagelok ed una meta contrassegnata da “VCR PAT’D.”



VCR Split-Nut mit AuBengewinde

1. Die beiden Split-Nut-Halften™ mit AuBengewinde um den VCR
Stutzen legen, so dass ihre Enden biindig sind. Die beiden
Hélften zusammendriicken.

2. Die Split-Nut-Hélften zum Riicken des Stutzenflansches
schieben.

3. Die beiden Halften lassen sich mit einem flachen
Schraubendreher wieder voneinander trennen und entfernen.

Split-Nut-
Halfte

VCR Stutzen Split-Nut-Halfte

U Es muss immer ein Satz verwendet werden. Die eine Split-
Nut-Hélfte ist mit dem Swagelok-Logo und die andere mit den
Buchstaben ,VCR PAT’'D" gekennzeichnet.



Split-Nut VCR male

1. Placez deux demi-écrous male” autour de I'embout VCR, de
facon a ce que leurs extrémités soient alignées, pressez ensem-
ble les deux demi-écrous.

2. Faites glisser les demi-écrous solidaires jusqu'a I'arriere de
I'embout.

3. Pour démonter, utilisez un tournevis plat pour séparer les deux
demi-écrous.

Demi-écrou

Embout VCR Demi-écrou

B Vous devez utiliser un jeu composé d'un demi-écrou marqué
avec le logo Swagelok et d'un demi-écrou marqué avec la men-
tion "VCR PAT'D."



Male VCR Split-Nut

1. Place two male split nut halves™ around the VCR
gland shaft so their ends are flush and press the two
halves together.

2. Slide the split halves against the back of the gland
flange.

3. To remove, use a flat-blade screwdriver to separate
the two halves.

Split Half

VCR Gland Split Half

U You must use a set with one split nut half marked with
the Swagelok logo and one split nut half marked with
the words “VCR PAT'D.”

Swagelok, Split-Nut, VCR-TM Swagelok Company
© 2001 Swagelok Company

Printed in U.S.A.

5-01, CP

MS-CRD-0083, R2





